R Z2X:11

6FE6AV YR —HEIR

AREOIX @

1 2 3 4 4
—t+—+—+—+1+...+3-+4=
5 5 5 5 5

1 1 1 2 5 2 5
—t—F—+—+=+14..3=+3=+4=
6 3 2 3 6 3 6

1 2 1 2 2
—+—41l+1l=+1=+..4+49=+10=
3 3 3 3 3

11 11 1
— 4142 43— +... +9= =
22 T2 T 2

0.375x0.065 13 x 104 =
0.25x0.072 + 17 x 340 =

0.375x0.048 = 11 x 264 =

N

Z



A 28]
GEGCHVY VA —EHNIE
HEDIXK D

(=)

(8) 0.125x0.036 + 17 x 272 =

9 11+5+11+10-11+4-11+20=

(10) 30+26+30+6-30+39-30+78 =

(11) 15+2+15+3-15+7-15+42=

(12) 65+3+65+21+65+35-65+105=

(13) (T x4.1+164)+4.1=41

(14) (= x25+75)+25=45

(15) (o x42+84)+42=42

(16) (= x3.1-62)=3.1=31



6FE6AV YR —HEIR

A BH

HEOIX O
8
(F5=)
1 1 1 1
(17) + + + =
2x4 4x6 6%x8 8x10
1 1 1 1
(18) + + + =
2X5 5%x8 8x11 11 x 14
1 1 1 1
(19 —+—=+—4+—-=
35 63 99 143
1 1 1 1
(20) —-+—+—+—-=
4 28 70 130

N

Z



